8 | 7 | 6 5 4 3 2 1

Table 1 - Bill Of Materials (Top-Level Kit) REVISIONS
ITEM OEM ASSY. AFTERMARKET ASSY. ZONE REV. DESCRIPTION DATE APPROVED
NO. DESCRIPTION Qry. Qry. NOTES
1 Rear Fender - Civia Hyland 1 1 - - A Production Release. 18 Apr. 2008 K. Hinz
2 Daruma Washer (Custom) 1 1 Stainless Steel :
Table 2 B Selected M4 hardware on affermarket mounting 13 May 2008 K. Hinz
3 Daruma Screw (Custom) 1 1 Stainless Steel P Y )
4 MS External Tooth Lock Washer 1 1
5 Mb5 Plain Washer (Narrow) 3 4 Stainless Steel
6 M5 hex nut, SS w/ nylon locking insert 1 2 Stainless Steel Aftermarket T
Mounting
7 Fender Strut 1 1 - Bracket _@
8 Loop Strap 2 2 Stainless Steel Kit T .
9 M5 x 0.8 x 10 Socket Button-Head Cap Screw 2 2 Stainless Steel /
10 M5 Plain Washer (Regular) 1 1 Stainless Steel i
11 M5 x 0.8 x 30 Socket Button-Head Cap Screw 1 1 Stainless Steel
12 10 mm Spacer (for M5) 1 1 Stainless Steel
13 2.5 mm Spacer (for M5) 2 2 Stainless Steel
14 5 mm Spacer (for M5) 1 1 Stainless Steel
15 OEM Fork/Stay Bridge Mounting Kit 1 - -
16 Aftermarket Mounting Bracket Kit - 1 . . . .
NOTE: mounting hole(s) must be drilled upon installation
(both for OEM and aftermarket fender kits)
I /
!
Table 2 - Bill Of Materials
(Aftermarket Mounting Bracket Kit)
ITEM NO. DESCRIPTION QTY.
17 L-Bracket for Fender 1 Stainless Steel
18 M5 x 0.8 x 25 Hex Bolt w/ Cross-Recess 1 Stainless Steel
19 M5 Plain Washer (Regular) 2 Stainless Steel
20 MS hex nut, SS w/ nylon locking insert 1 Stainless Steel
21 M4 x 0.7 x 8 Socket Button-Head Cap Screw 2 Stainless Steel Noi-e: M5 washer and nut
22 M4 Plain Washer (Narrow) 2 Stainless Steel are Oﬂ|y needed for
23 M4 hex nut, SS w/ nylon locking insert 2 Stainless Steel OEM . OfTermOrkeT frome
Fork/Stay Bridge mounting af
Mounting Kit chainstay bridge
Table 3 - Bill Of Materials
(OEM Fork/Stay Bridge Mounting Kit)
ITEM NO. DESCRIPTION Qry.
24 M5 x 0.8 x 16 Socket Button-Head Cap Screw 1
25 M5 External Tooth Lock Washer 1
26 M5 Plain Washer (Narrow) 1
i
P L MATERIAL
- APPROVALS DATE
- e KU HinZ | 16 Apr. 2008
grams CHK. BY .
K. Hinz | 16 Apr. 2008
"> K.Hinz | 16 Apr.2008 —
UNLESS SPECIFIED ALL DIMENSIONS 5= QUALITY BICYCLE PRODUCTS
e ARE IN: MILLIMETERS 6400 WEST 105 STREET, BLOOMINGTON, MN 55438 USA, Ph 952 - 941 - 9391 Fax 952 - 941 - 9799
TOLERANCES: s TITLE
XX -i0p  Auswwmos | Rear Fender - Civia Hyland
" - . AND CORNERS MMENTS:
O, R v SZE  [FILENAME REV
—— PROPRIETARY — - C Fender - Rear (Kit) B
THIS DOCUMENT CONTAINS CONFIDENTIAL INFORMATION WHICH IS THE THIRD ANGLE PROJECTION E
PROPERTY OF QBP. DO NOT REPRODUCE, FORWARD, OR DISCLOSE TO
ANY THIRD PARTY WITHOUT PRIOR WRITTEN PERMISSION OF QBP DO NOTSCALE DRAWING SCALE 1:2 ‘ ‘ SHEET 1OF1

8 7 6 5 ' 4 3 ! 2 ! 1




	Sheet1
	FenderExpldAssyISO
	AM_MntgBrktKit
	OEM_ForkStay_Hrdwr


